
APPROVED

SCALE

CHECKED

DATE

DRAWN

TEST No PROCESS No..

ISSUE

No.

DRAWING No.

DO NOT SCALE
DIMENSIONS IN MILLIMETRES (mm)

MAXIMUM MACHINED SURFACE

TEXTURE um Ra 3.2

MACHINE WHERE MARKED THUS

APPROVED FOR MANUFACTURE

1 2 3 8 9 10

1 2 3 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

A

B

C

D

E

F

G

H

1:1

CP289

SHEET 1 OF 1

COPYRIGHT C 2017
ISSUE
No.DRAWING No.

CP289

CERTIFICATE RELATED DRAWING

NO MODIFICATIONS PERMITTED
WITHOUT THE APPROVAL OF
THE TECHNICAL MANAGER

Victor Products Limited
Unit 3A, Tyne Dock East Side,
Port of Tyne, South Shields,
Tyne and Wear, NE33 5SQ,
United Kingdom.

255

 A/F214

320 136 APPROX.

120 APPROX.

0 DCR DRN 2/3/10 AER
CHK 2/3/10 AER APP 2/3/10 AER

DRAWING INTRODUCED.

ANGULAR TOLERANCES �#�1/2�$�

DIMENSIONAL TOLERANCES
UNLESS OTHERWISE STATED

UPTO 6            �#�0.1

OVER 6 UPTO 30    �#�0.2

OVER 30 UPTO 100  �#�0.3

OVER 100 UPTO 300 �#�0.5

OVER 300          �#�0.8

200 ---
AER

2/3/10
2/3/10 AER

2/3/10 AER

0

11KV HALF COUPLER ASSEMBLY - SHORT.
TYPE CCBXIA

0

SECTION  Z-Z

PART SECTION  Z-Z
SHOWING TYPICAL UNARMOURED
GLAND ARRANGEMENT.

PART SECTION  Y-Y
SHOWING TYPICAL ARMOURED
GLAND ARRANGEMENT.

6

12
3

45

789 10

1112

16

17

18

19

20

21

22

1314 15

REF.
No.

ITEM No. DESCRIPTION
No.
OFF

1 OUTER CLAMP - ARMOURED 1
2 CONE GLAND - ARMOURED
3 MAINS TUBE ASSY - 11KV - GRUBSCREW 3

MAINS TUBE ASSY - 11KV - CRIMPED 3
4 125180- EARTH SCREEN BOSS 3
5 125182 SUPPORT ROD (SHORT) - 11Kv. 3
6 GPC23-2 DOWEL PIN 1
7 11Kv HALF COUPLER BODY 1
8 C14-1 FLP STOPPER PLUG M32 x 1.5p - 6g 2
9 11KV SCREENED INSULATOR 1

11KV UN-SCREENED INSULATOR 1
10 218011X SOCKET HEAD CAP SCREW - M8 X 25 LONG 6
11 218167X SOCKET HEAD CAP SCREW - M6 X 10 LONG 1
12 228016S GRUBSCREW M6 - FLAT POINT 12
13 NUT 2
14 SPRING WASHER 2
15 STUD 2
16 GPC11-15 SCREW - M6 x 1x12 LONG HEX HEAD 3
17 GPC12-17 SOCKET HEAD CAP SCREW - M6 X 55 LONG 3
18 GPC20-11 PLAIN WASHER - 6 I/D - BRASS 3
19 UN-ARMOURED GLAND BODY 1
20 CABLE SEAL RING 1
21 CLAMP WASHER 1
22 GLAND NUT 1

TABLE NOTE: WHERE ITEM NUMBERS
ARE NOT SHOWN, THESE ARE VARIABLES
DEPENDING ON CABLE TYPES.


	Sheet 1
	Views
	new_view_1
	right_3
	new_view_4
	top_5



